LABJNDu? triangle lightness T*
=L* =10

nc—- W nc '

T*

T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=174,T* ,(18)=396,T*(90)=616

log[T*/T* ]=0, m=0,33
L* =49, T* =396
T*o=615,73, £ L300, ¢=0,84
T16=395,50, /117 O 14, A,=0,0048
e e=173,9471 1 315 50 Y =181
1
1y,=18
1 Yy=90

application
range

=36

LABJINDu7
tristimulus value difference

YacmL*w  nc=100,
T*Laganpu7 =[IN[A 10+ A2 I/(A 20A0n)] (Ya/100<Y<=Yyo)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dY,g=0,67, Ayr=1,500, G=0,84

dY;4=0.15. A1=0.014, Agn 0,0048
dY3,=0,04 Y,=18, dY=0,15

T*,=396 dY,=0,15 dY,/Y,, 0(‘JP4 2

application
range
1Y,=18

log (AY/Y) LABJNDu?7
tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AY/Y=Agn[A 1+AgYIIY

(dY/Yy=0,0075, Ayl
(dY/Y)=0,0084, A =0 ,AZ
(dY/Y} 0,0i32 Yu=1& dY=0,15

0, O

~

application
SR N ge

log(dY/Y)=-2,07, m,=-0, %

T*,=396 dY,=0,15 dY,/Y,=0,0084
1

1
1Y,=18
Yw=90

Yn=3.6

log (Y/AY) LABJINDu7
tristimulus value contrast

C=(VinY) e e o
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(YIdYy=132,52, Ay=1,500, ¢=0,84

(Y/dY)g=117,67, Ay=0,014, A,=0,0048
(YIdY} =75,42 218, d=0.15

Iog(YldY):Z 07, m=0,13 ».* '
z - application

: range

L =18

' N =90

TEIT

LABJINDuU? relative triangle lightness T*/T*,,
THT* YocmL*w - nc=100,
T*LABINDu7=[IN[(A 17+A2nY)J/(A 2nA0n)] (Yd/100<Y<=Y,c)
T*\(3,6)=174,T* (18)=396,T*,(90)=616
T*ogT*y=155, A4y=1,500, ¢=0,84
Ty, 0,014, A= o 0048
T* dT* =0, 43 T, —395 ,50 Y=1i

log[T*/T*,]=0, m,=0,33
L* ,=49,T*,=396 1
1 application
f range
1y,=18

Iog(AY/AY )

log [AYY) I (AYIY),]

N=36 V=90

LABJNDuUTY relative
tristimulus value difference
INTNA Yoe=L*w - ne=100,
T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY,=AgnA 11+AanYI/dY,
dYeo/dY,=4,43, Ay=1,500, ¢=0,8
dY;¢/dY,=1,00, A 0014/:2:,0
dY ¢dY,=0,31 Y,=18, dY=0,15

LABJNDuUY relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

T*Laganpu7 =[IN[A 17+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Y3g/(dY/Y)=0,88, Ay=1,500, ¢=0,84
(YY) g/(dY/Y=1,00. An=0,014, A=0.0
(dY/Y%i;(dY/YE 56 ¢1H_1& dy= 155

048

Iog[(dY/YY(dY/Y)J] 0, m=-0, 13 3
T+,=396 dY,=0,15 dY,/Y,=0,0084

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpu7 =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)

(YVIAYY(YIAY), = (YIYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYhg/(Y/dY)=1,12, Ay=1,500, ¢=0,84
(Y/dY%al(Y/dY =0,014, &n:50,0048

=1,00, Ayt
(Y/dY} ¢/(Y/dY}=0,64 Y,=18, dY=0,1

1
1 application
1 range
'y,=18

Yy =90




